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StaTisTIcs (Q 7, PAPER 2)

LessoN No. 1: MeaN AND MEDIAN

2007
7 (a) Find the median of the numbers
5,11, 3, 16, 8.

SoLuTION

The Mebian is the middle number when you line up all the numbers in
increasing order.

3,5,8, 11, 16
The median is 8.
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7 (a) Calculate the mean of the following numbers:
1,0,1,5,2,3,09.
SoLuTIoN
The mean or averace Of a set of numbers is calculated by adding the numbers together and
dividing by the number of numbers.
Sum of the numbers
Mean =
Number of numbers
The mean is denoted by X.
¥:1+0+1+5+2+3+9 g Xt Xyt +%, _ Sum of the Numbers DX o
7 N Number of Numbers N |
- 21
>X=—=3
7
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7 (a) Four people have a meal in a restaurant. The average cost of the meal per person is

IRE12.50, excluding the service charge.
What is the total bill for the four people if a 10% service charge is added?

SoLuUTION

Xy 4 Xy F e +Xy _ Sum of the Numbers _ 2x | o
N Number of Numbers N

K:%:Zx: NX
= > x=4x12.50=50

The total cost of the meal for the four people is IRE50.
A 10% service charge is added. 10% of IRESO0 is IRES.
The total bill is IRE50 + IRES = IRESS5.
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7 (a) Findthe mean and the median of the following array of numbers:
2,5,7,11,15,3,6
SOLUTION

The meaN or averace Of a set of numbers is calculated by adding the numbers together and
dividing by the number of numbers.

_Sum of the numbers

Mean =
Number of numbers

The mean is denoted by X.
_ 2+5+7+11+15+3+6
X = 7 g KXo Fos + Xy _SumoftheNumbers_zX

N Number of Numbers N [
_ 49

=>X=—=7

7

The Mebian is the middle number when you line up all the numbers in
increasing order.

2,3,56,7, 11,15
You can see that 6 is the median number.
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7 (@) The numbers 3,5, 6, X, 9, 2 have a mean of 6.
Find x.
SOLUTION

The meaN or averace Of a set of numbers is calculated by adding the numbers together and
dividing by the number of numbers.

_ Sum of the numbers

Mean =
Number of numbers
The mean is denoted by X.
g X b, + Xy _SumoftheNumbers_zX o
N Number of Numbers N |

o 2X 3+5+6+x+9+2
X==—=6=
=36=x+25

Sox=11




